
DAILY BASIS ASSIGNMENT 

          DAY: Saturday          CLASS: V                    DATE:23.05.2020  

         

  SUBJECT: ENGLISH 

I. Choose the most appropriate options from the ones given below to  

     Complete the sentences. 

1) He completed his work ______________. 

 (a)  themselves   (b) herself     (c) himself     (d) ourselves 

2) __________ pencil is this? 

(a) Whose     (b) Whom    (c) Which    (d) What 

3) The man ________ was injured, worked in our office. 

(a) whom     (b) who     (c) which      (d)  whose 

4) If you had studied well_________ result would have been good. 

(a) my          (b)  their       (c) his    (d) your 

5) Who said that _______ books are not hers? 

(a) these       (b) this     (c)  each      (d) whom 

 

SUBJECT: EVS 

I. CHOOSE  THE  CORRECT  ANSWER: 

1. Which of these is not a flightless bird? 

a) kiwi               b) penguin              c) parrot              d) ostrich 

2. Which of the following animal is well – adapted to live in salty water? 

a) whale              b) arctic fox            c) lion                  d) camel 

3. Where does the exchange of gases occur in birds? 

a) skin                  b) gills                      c) lungs                  d) spiracles 

4. Reptiles breathe through their …………..  

a) spiracles            b) gills                    c) skin                      d) lungs 

5. Which of the following is also known as terrestrial animal? 



a) duck                    b) elephant           c) frog                     d) fish 

 

SUBJECT: MATHS 

I. Choose the correct answer 

1.  Write four hundred thirty two thousand four hundred fourteen in the numeral form( National system) 

a) 4,32,414     b) 432,414       c) 413,432      d) 414,423 

2. Place value of 7 in 8724630 is 

a) 1,00,000     b) 7,00,000       c) 10000      d) 7000 

3. Arrange 4,32,840; 8,63,920; 6,43,200; 5,42,140 in descending order 

a) 8,63,920; 6,43,200; 5,42,140; 4,32,840 

b)  6,43,200; 4,32,840; 8,63,920; 5,42,140 

c)  4,32,840; 5,42,140; 6,43,200; 8,63,920 

d)  5,42,140; 4,32,840; 6,43,200; 8,63,920 

4. Write 84,32,920 in international system.(numeral form) 

a) 84,32,920     b) 84,329,20   c) 8432,920      d) 8,432,920 

5. 40 lakh=…… millions 

a) 4                   b) 40               c) 400               d) 1 

 

SUBJECT: COMPUTER 

I. Choose the best options from those given below: 

i) What does a computer need to perform a task 

(a) Program (b) Data           (c) Wi-Fi                        (d) Instructions 

 

ii) Computer can store large volume of  

(a) Documents    (b) Presentation               (c) Information         (d) Liveware 

 

iii) Application Software can perform task only when _________ is present in computer 

(a) System Software       (b) Hardware            (c) Firmware                  (d) Liveware 

 

iv) Data is processed strictly in accordance with the given 

(b) System Software (b) Program            (c) Firmware                  (d) Command 

 

v) The computer was designed in  

(b) Twentieth century  (b)Mid-Twentieth century  

             (c) Twenty first century              (d) Ninetieth century  



 
 

 

 

 

 



 दै�नक �नयत काय� 
  क�ा- 5  

 �वषय-�हदं� 
�दनांक- २३/०५/२०२०                                   �दन- श�नवार 

 
नीचे �दए गए बहु�वक�पीय ��न� का सह� �वक�प चनुकर �लख�- 
 
1. लता मगेंशकर बहुत अ�छा गाती है। �न�न वा�य म� स�ंा श�द च�ुनए- 
क)  लता मंगेशकर 
ख)  बहुत अ�छा 
ख)  गाती है 
घ)  अ�छा 
 
2. ​'�ी�तभोज'  का सह� अथ� �या है? 
क )  आयोजन 
ख )  उ�साह 
ख )  दावत 
घ )  �योहार 
 
3. �दए गए श�द� म� श�ुध वत�नी चनेु- 
क) दै�नक 
ख)  देनीक 
ग)  द�नक 
घ ) दैनीक 
 
4. "वाह �या छ�का मारा है।" 
 �न�न वा�य के �लए उ�चत �वराम �च�ह चनेु- 
क) ! 
ख) : 
ग) ? 
घ )   "  " 
 
5. "जो इ�तहास से संबधं रखता हो " �न�न वा�यांश के �लए एक श�द चनेु- 
क ) दरूदश� 
ख)  ऐ�तहा�सक 
ग)   माग�दश� 
घ)  वाचाल 
  
 



               laLd`r  fu;r dk;Z &30     

d{kk &iap        

fnukad 23&5&2020 

iz”u 1  laLd`r o.kZekyk esa& &&&Loj gSa A 

        d 5     [k-7     x- 9        ?k 11 

iz”u 2laLd̀r o.kZekyk esa &&O;atuksa dh la[;k gS& 

        d-15     [k-33    x-20        ?k 25 

iz”u 3 O;atu lnk &&& dh lgk;rk ls cksys tkrs gSa A 

        d- o.kZ    [k-“kCn   x-okD;     ?k-Lojksa 

iz”u 4 o.kksZa ds Øecn~/k lewg dks &&& dgk tkrk gS A  

        d-o.kZekyk  [k-okD;  x-O;kdj.k   ?k ”kCn 

iz”u 5fuEufyf[kr esa ls la;qDr O;atu dkSu gS & 

        d-p~        [k d~    x |~       ?k-Ek~     


